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mOﬁoﬁoimthowamofoﬁmymﬂﬂﬁhwﬁmﬁqﬁ*m
wavaE ¥ v8 wan A wan A adnn Ha @ P B, (30 150 et # #fam)

Faster cc?nomic growth requires increased share of the manufacturing sector in
GDP, particularly of MSMEs. Comment on the present policies of the Government in

(Answer in 150 words)

this regard.

it wdsraen & fefsRem A ff 7 27 w dau § w0 aeh wREns B B o
g ¥ fom gum Afimy (37 150 vzl & #Hfam)

What is the status of digitalization in the Indian economy? Exammc_thc problems
faced in this regard and suggest improvements, (Answer in 150 words)

FR IR % I v g § f-awh feed B fee wen wew wrdl 27 @ wEEEY)
(3% 150 w2 § Aifem)

How does e-Technology help farmers in production and marketing of agricultural
produce? Explain it. (Answer in 150 words)

Wi # sfy gum & Itwl va 3 ®) qargn) s W) F sta, wfa mmqﬁmﬁiﬂ
& wE wwd gqun A oW gEa B, PR At (I 150 =R 7 £

State the objectives and measures of land reforms in India. Discuss how land ceiling

policy on landholding can be considered as an effective reform under economic
criteria. (Answer in 150 words)

Fm 3% (Te 3Mgo) N sAwTEn w1 v A vo AR Fafrwet fiem A 82 w2z w00 37 70

3| w@ren de) d o Wige & Iwm § fE A fem B B gan whe w0
(3 150 weE) & Ffaw)

Introduce the concept of Artificial Intelligence (Al), How does Al help clinical
diagnosis? Do vou perceive any threat to privacy of the individual in the use of
Al In healthcare? (Answer in 150 words)

3 fafim sl w a2l A fied gerdd ™ s @ o fua & =0 & e 93 | 522 @ 57a B
(I 150 =31 | ffam)

Discuss several ways in which microorganisms can help in meeting the current fuel
shortage. (Answer in 150 words)

sidl ) fawam T yogmd 2 B, R w9 & A A iR, S shvmgraes Fae s aof
vt Jaam g 1wl ) fage % R w0 w1 faeem Aif) 22 3l @ et § 2
e A (3R 150 weit # Fifsm)
Dam failures are always catastrophic, especially on the downstream side, resulting

in a colossal loss of life and property. Analyze the various causes of dam failures.
Give two examples of large dam failures. (Answer in 150 words)

¥ e wn ¥7 wigh o @3 v e Ry AR 2 ¥ fam fan e @ e gg
fasm &9 } wfrems 37 (3 150 weat & Hife)
What is oil pollution? What are its impacts on the marine ecosystem? In what way is

oil pollution particularly harmful for a country like India?
(Answer in 150 words)
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winning of Hearts and Minds’ in terrorism-affected areas

ST R S, 70, e e s

W W v g

P,
(380 150 wek & #fam)

: : is an essenti
restoring the trust of the population. Discuss the measu al step in

Government in this respect as part of the conflict resolu

Kashmir.

res adopued by the
tion in Jammy and
(Answer in 150 words) 10

10. #tn wR R w3f g efun/Men-aneR, g AR AEAEa g A (e vo do) A wez a
mmﬂgtm%Pctqmmm%lmﬁﬂiﬁﬁwﬁkfmmmﬁmmmmt

(3 150 73 & Hfm)

The use of unmanned aerial vehicles (UAVs) by our adversaries across the borders

to ferry arms/ammunitions, drugs, etc., is a serious threat

to the internal security,

Comment on the measures being taken to tackle this threat.

(Answer in 150 words] 10

11, Wi 3 gl s emh v § w2 v # A f e s e s of wef w5

wham Aifae o gur % gaa ffem

Most of the unemployment in India is structural in

methodology adopted to compute unemployment in the
improvements.

(3 250 741 § Afaw)

nature. Examine the
country and suggest
(Answer in 250 words) 15

12. ‘@vm s’ v ‘gha adegaen’ ¥ i s Difsg wfeen sefram ¥ g0 EwE

wdferaen B giga adeaan § ¥R @ s @ 7

Distinguish between ‘care economy’' and ‘monetized economy’

(3m 250 w1 & #fam)

. How can care

economy be brought into monetized economy through women empowerment?

(Answer in 250 words} 15

13. @ Y7 v fagom 2mad 3 uieds & wal 8, wia 3§ wEe e (7 §) 3 @ooleda 8

ey #ifau

Explain the changes in cropping pattern in India in the
consumption pattern and marketing conditions.

(3m 250 &) # Afam)

» context of changes in

(Answer in 250 words) 15

14, A 7 F 43 A v A A A T®E @ svEs whEEh w2 e =R A (e A

o) g I2m MU Fft wimd wdEiva gE B e fifw)

(3m 250 =2t | #faw)

What are the direct and indirect subsidies provided to farm sector in India? Discuss

the issues raised by the World Trade Organization (WTO) in
subsidies.

relation to agricultural
(Answer in 250 words) 15

15. @fis FE #1 39 g W H 0 A 93 @ ) R IR W o w3 @i T 6

ArmER A § S g T R A #) gee 8 A w0 agE a

TaR w0 R
(3W 250 w21 B Afam)

The adoption of electric vehicles is rapidly growing worldwide. How do electric
vehicles contribute to reducing carbon emissions and what are the key benefits they

offer compared to traditional combustion engine vehicles?
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.\:fhal 1; the mam task of India’s third moon mission which could not be achieved in
its b:ar 1er m,suon? List the countries that have achieved this task. Introduce the
subsystems in the spacecraft launched and explain the role of the Virtual Launch

Control Centre’ at the Vikram Sarabhaj Space Centre which contributed to the
successful launch from Sriharikota. (Answer in 250 words)

NI HCRR gRT 3 R o oty iR s wiER w fraeh g i are et 3 e
sl wewm 6 wa B 5o s ¥ am fafe (zm 250 7=t & Af)

Comment on the National Wetland Conservation Programme initiated by the
Government of India and name a few India’s wetlands of international importance
included in the Ramsar Sites, (Answer in 250 words)

s yhada v s -weErt Y5 (e Mo o o) 3 i wgE-ww A 2100 = TF T vE
di £ afg w1 qEgE e 21 e werrn 4 # wwa of gR 2 A v w0 oawE e
(3 250 7= & Fifaw)

The Intergovernmental Panel on Climate Change (IPCC) has predicted a global sea
level rise of about one metre by AD 2100. What would be its impact in India and the
other countries in the Indian Ocean region? (Answer in 250 words)

WA T g §) W A wats gen it w87 @ and w1 ogeaeen w3 ¥ g e
¥ gfeq v wte v ) ffte T (37 250 et | Hfom)

What are the internal security challenges being faced by India? Give out the role of

Central Intelligence and Investigative Agencies tasked to counter such threats.
[Answer in 250 words)

ura ¥ sidaar & A & yga \a o @ g A w24 % fog g o B e w
e B, g @ F 7 R s 2022 # of ‘swear F o @ T (We We wEe A’
aft % S va Rwa # o @ fiftm (W 250 vt # Afw)
Give out the major sources of terror funding in India and the efforts being made to

curtail these sources. In the light of this, also discuss the aim and objective of the

‘No Money for Terror (NMFT)' Conference recently held at New Delhi in November
2022. (Answer in 250 words)
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